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3. Sindx-sinlx = O
~—__
2sinlX cos7x -5I0X = D
S\nZx (2 COSEX —1) =0
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1. Use the half-angle identity to evaluiactly -L n@_ l— Co $@
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2. Find the exact value of cos212°cos122° + sin212°sin 122°.

=cos(z17 —12?‘> =cos90° =@

3. Find sin 20, cos 26, and tan 26 given that cos 8 = — and 6 is in Quadrant IV.
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4. Given sina = % , aisin Quadrantll, cos f = —E, and B is in Quadrant lll, find sin(a + ).

Snr\(o(-i-) = Sinel Cas B+ CaseSiN
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5. Find tan™1! (— %) exactly in radians.
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6. Evaluate cos (csc_ld%) = COS I —_| —
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7. Find all solutions (in radians) in the interval 0 < x < 2m. sin?x — 2= 0
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8. Find all solutions (in radians) in the interval 0 < x < 2m. 2sin®x = sinx

9. Prove the identity.

1+coszx= 5 esc? x — 1
L_Hs - .._\q + (052X 2 2
SINX 80X 30 x4 s %=
5 - Sin X 3
Zcsctx +Col "X |+ col'x=C
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10. Prove the identity. cscx — cosx cotx = sinx

o CosX cosX
HS= —— — o
- SN [  sinx

2 “‘COSS(
SINX
= ;S'\r\:%X
S
- SiNX

:,QHS
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Bonus (10 points): Find all solutions (in radians) in the interval 0 < x < 2m.

sin3x +sinx —sin2x =0

sin@(-r)p tsink—2sinxces x =)

siofxcos X+ @sSINX +siNX—2sinxcosxX = ()

Asinxcosx- cosxX+(Qeask |
ASINXCOSx + Qsinkcasi
4’8]‘“‘ c Oszx—z s;(\)((osX -

LsinXos X <2cosx-| ) =0
= co

)su‘nx +Si0X-2sinX@ = O)
—SiAX FIY-2siX(esX =0
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